High Riser Commercial Box Contents 1 Box Total

Product # 318-C

Component Quantity Replacement #
Frames 2 #531
High Rise Retainer 2 #538
High Riser Washers 4 #503
High Riser Frame 2 #532
4" Hubs 2 #539
4" Wheel Bag #584
Contains: (4) 4" Wheels, (8) 3/8” Washers and 1
(4) Acorn Nuts
3 Leg Wheel Bag 1 #537
Contains: (2) 4” Wheels, (2) Acorn Nuts and (4) 3/8” Washers
3 Leg 2 #537
High Riser Hardware Bag
Contains: (2) 5/16" x 1" Bolts, (2) 5/16" Washers, (4) 1-1/2" x
3/8" Bolts, (4) 3/8" Nuts, (2) 6” Anchor Bolts, (2) Springs, (2) 1 #CT4
Spring Guards, (2) Drop In Anchors, (12) 3/8” Washers, (4)
3/8"x1" Bolts, (16) Self Tap Screws, (2) Plastic Washers, (2)

Bushings, (12) Female Grommets, (12) Male Grommets,

(36’) of Strap and (1) White Knob

Large Handle 1 #547
High Riser Instructions & Warranty 1

Box Dimensions: 27"x19"x7"
Box Weight: 25 pounds







